MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)
it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 20 21
. W HERHD x| ., | EETE| VA | DAL PURT | s e WA . | BGE W AVUR A4 | BEA BEA | Thm | AR
w7 BRADL) RE RAA BB T ey | s | vvv | o | BB SRR T OB T A g vom | ke sbE | mi
1 [HgaD KB A 8.7 48 13 8.2 78
2 | TIULTIR 0.64 0.039 0.68
3 [ TVUNLERTTF L 198 198
4 | TIVNVEER O DK 13 0.047 13
5 |[TIUNER2— (PAFATI/) F )L 198 198
6 | 7VUNER2—EREX L =Tl 0.089 0.089
T \TIINERI NN —TFIL 7.0 0.011 7.0
8 |[TVUNERATF IV 0.017 198 198
9 |77Va=Rp)v 107 107
10 [77aLA 40 344 2,157 27 822 700 217 3,677
11 |7V Ry A 0.086 0.086
12 |77 ATER 0.002 184 1,891 11,877 149 3,450 2,196/ 289] 134 0.0003 20,171
13 [ 7&bh=RJv 74 90 49 213
14 |[7&b 7 JERU
15 [ 7®F75
16 |2, 2" —T7YEALYTFr= )L
17 [ Anb=T=vvv
18 7=V 0.055 0.048 0.10
19 1-73/7-9, 10— 7% /v
20 [2—T3)xH)—)v 159 38,844 7,789 46,792
21 [7ayEyy
22 [747B=)L 486 16 502
23 [R5 —T3I)Tx)—)L
24 |\ A —=TI)Tx/)—)V
25 [ ANT VY
26 [3—73I)—1—7 a2
21 | AZ3pp
28 |TUNLTILa—)L
29 [1—TULAHY—2, 3—xRFL Ty 4.0 4.0
T VR NP AR R ED
30 i (TN EEDRFHLN 107 H14FETD 782 1,019 51 106,752 9,735 118,339
HOROZDREGWIZIRD, )
31 [T FERLKROZEDLEY 7.4 19 26
32 [ 7U bk
33 |4
g4 |3TAVITFRAFNA =3, 5, 5-FIAF
i) =AJT T F—h
35 AT FNTILTER
36 (/T 2,997 2,997
37 [EAT7=/—/LA 3.4 1.0 4.4
2,2 —{4y7ae)F U eR[(2, 6-V7
38 |BE—4, 1 —Tz=L)AFU] Vs
J—=Iv
39 |7 IKA
40 7= F—h 100 100
41 | TNhT=v 7.0 7.0
12 [2—AIFIVOLTF A 0.10 0.10
43 | A8V
14 (AT LRTZEDIEY 0.00006 0.00006
45 | =X TFF—)L
46 |FY Ry 7T L
47 | THIRA 112 112
48 |[EPN
49 | NUT AR 530 530
50 [EYxR—h
51 |2—ZF NFHh R
52 |[7I=NT 160 160
53 [TFA~LEL 38,375 5,197 96 60,159 275 32,158 1,709 612 5,225 72 9.6 143,887
54 |[RAFTE—h 104 104
55 |ZF LA
56 |TFLAFUR 93 56 149
57 |=FL o7 )a—NE/)TF)LT—T )V 463 4.5 0.089 468
58 |TF LT Va—)LE /AT /L T—T ) 26 0.060 26
59 |TFLLITIL 0.017 0.0009 0.018
60 |[TFL U7 I IUFERE 5.5 385 46 437
61 |voxT 3,600 3,600
62 |[wrats 12,617 12,617
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

RECFIE FERPE R (kg/FE, FAAF L B Img-TEQ/FF)

it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 20 21
. W HERHD x| , | EETE| VA | DAL PURT | s e WA . | BGE W AVUR A4 | BEA BEA | Thm | AR
w7 BRADL) RE RAA BB T ey | s | vvv | o | BB SRR T OB T A g vom | ke sbE | mi
63 [T T BIN 1,211 1,211
64 | TRz TayIA 164 30 194
65 |TE/noER)y 0.023 0.023
66 |1, 2—TARFL T X
67 |2, 3—xARFL—1—T /) —)L
68 koL 0.022 0.022
69 2, 3—IARFT T )N =T =)L m—T

v
70 T AT UBla BAEME e~ 2y 2 2

F Bl1b% BB DIRE
71 AR 8k 0.37 0.37
79 [BIEATT A (REHN100H13ETO

HOKOZDIREMICIRS. )
73 (1—AUH )= 0.065 0.0002 0.066
4 |\INTG—=FIFNTx)—)L
75 | HRIV LR OZEDOILE Y 0.015 0.020 5.8 5.8
(R A VA=V L AN
7 |y sy TFIN
78 (2, 4—FTL/—)L
79 [2,6—FTL/—L
80 [FI Lo 65,444 6,596 236 480] 102,818] 44,975 1,409 128,131 4,879 2,552] 13,147 289 79 9.2 371,045
81 % /U 0.000006 0.000006
82 [#R M O DKIEMEALE W 1.6 5.1 6.7
83 [rA~ 478 4.0 662 0.46 1,145
84 | ZVAFH—L
85 |V NHNTLFER 3.8 0.034 3.9
86 (/LY —)L 0.003 48 0.001 18
87 |7usRk O =flizaMei 0.68 1.1 22 24
88 | Afliznsfbéty 0.90 67 68
89 |zmumpr=y»
90 [ThIvv 45 45
91 [>T Vv 51 51
92 M7= ETR 105 105
93 | ATrE—)
94 [Hifke =1 0.74 0.74
95 [ ILTTF A 342 342
96 [Tz /af—L 10 10
97 |1—rmu—2— (ZraAF L) L
98 | /mnfERg
99 | ZonfifkoF L
100 [FLF57n—L 163 163
101 [757a—1 301 301
102 [1—7man—2, 4—y=pa~E~
103 [HCFC—142b 2,994 2,994
104 [HCFC—22 50,757 50,757
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 A=y 303 303
109 [ ANVh—rmaplay
110 |(/NF—znuplxz
111 |[2—/npn—4—=pa7=1r
112 |2—Zmp=fa~_ ¥
13 [v~vu 101 101
14 A5 )77
115 | 7= hFH3N 56 56
116 [~FLF T IR 40 40
17 [F7a)ry—n 136 2.5 139
118 |3/ur74=)L 27 27
119 | 7= 7a)y—
120 [AVb—Zvun7e/—)L
121 ST —randx)—)
122 [2—Zunruc @
123 k7Y
124 |73
125 7o~y 57 343 2.1 402
126 [CFC—115 35 35
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

REYRZ L PR & (kg/4F, A4 ¥ FlTmg-TEQ/F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 20 21
. W HERHD x| , | EETE| VA | DAL PURT | s e WA . | BGE W AVUR A4 | BEA BEA | Thm | AR

w7 BRADL) RE RAA BB T ey | s | vvv | o | BB SRR T OB T A g vom | ke sbE | mi
127 [ Zaamsuh 122 1,461 147 1,731
128 HfbAF v
129 [4—/an—3—AF)NTx/)—)L
130 [MCP
131 |3—ZaRr—2—AF)L—1—7ua~
132 [ VR O DLE 16 0.010 51 67
133 ;it‘/ﬁ‘U:—/VE/x%/b:ﬂ—?‘/le‘z 658 0.008 658
134 |l =/ 94 160 0.092 255
135 TFLU T VA=V AFNT—T LT &

F—h
136 | HUFATNTER
137 |27 F3F 25 25
138 |Prm Avh 9.0 9.0
139 [FFuAR 1.4 9.4 11
140 |7 =27y 10 2.5 13
141 |[vEF =/ 78 78
142 (2, 4—J73)7 =V—)
143 |4, 4’ —VT73) V7 x=)L=—F )L

> ~ AN iz R N

144 @?77/1313%(5515&0/7/@5% 93 137 160
145 2— (P=FNTI)) 2B )—)V
146 [EVIHRAAF /L 49 49
147 |FA L ANT 230 230
148 |H7 =2 Abm—)L 1,031 1,031
149 | Pusfifb bR 0.062 0.062
150 |1, 4— x> 12 12
151 |1, 3—IAFVT
152 [ IINHyT 1,483 1,483
153 [ 7RI AN 309 309
154 |v7a~F L7y
155 [N— (S 7a~F oV F4) 74 LAIR 0.14 0.14
156 | 7onry=J
157 [1, 2—yrnnxgy 20 0.26 21
158 ke =07
159 | A—1, 2—Y/pp=FlL v
6o |33 —YrEA—4, 4T —VT YT ==

VAR
161 |[CFC—12 4,598 4,598
162 | 7BEHIR
163 [CFC—114
164 [HCFC—123 1,299 1,299
165 |2, 4—YZ7nahLxoy
166 |1, 2—Y/mE—4—=fr~rEr
167 |1, 4—Y7un—2—=fa~_ ¥
168 (A7 A 780 780
169 | 80 80
170 | ThIa)ry'—
171 |[Fevatry —iv 9.9 9.9
172 | AXHVrarky 370 370
173 [evra/ )
174 [V=amy 113 113
175 |2, 4—D 153 153
176 [HCFC—141b 7,064 7,064
177 [HCFC—21
178 |1, 2—y7unrusXyv
179 [D—D 22,319 22,319
180 |3, 8’ —vrmp~u vy
181 |[Yrnn~L ¥y 0.20 402 71,012 0.004 71,414
182 B9V %y 7= 40 40
183 [£F/L—h 1,218 1,218
184 [Prm~=)L 146 146
185 [HCFC—225 5,759 5,759
186 [MfbAFL v 11,559 8.4 11,567
187 [VF T I 252 252
188 [N, N—T s /a~Fi L7
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

REYRZ L PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 15 6 | 17 18 19 20 20 21
. W HERHD x| , | EETE| VA | DAL PURT | s e WA . | BGE W AVUR A4 | BEA BEA | Thm | AR

w7 BRADL) RE RAA BB T ey | s | vvv | o | BB SRR T OB T A g vom | ke sbE | mi
189 |Ns N=227maFoL—2— )57

S =V ANT =T IR
190 |y ru~ By xy
191 (YT aF+7 48 48
192 | =F 472 IRA
193 | =F )L FA A
194 |F¥m
195 | 7aFA47kA 485 485
196 [ AF X F AL 1,416 1,416
197 |~5/v 300 300
198 |V Ahx=—}h
199 [CIZ VAL At 1260
200 |Y=hahlxr
201 |2, 4—V=ha7=/)—)V
202 | VE =R
203 | V7 == T
204 | VT x=)—T )L
205 |1, 3— V7= AT T =V
206 | HNRALT 7 3.0 3.0
207 B8 v TFN A=V 1.8 31 14 0.030 47
208 |2, 4=V —H— ¥ V—TFNTx/)—)L
209 |7 uEIORAY 255 60 315
210 |2, 2— Y7 aE—2— 37 )7 LT3R
211 |/"ar—2402
212 |[7E7=—F 1,745 1,745
213 [N, N—PAF LT ®7IR 88 7.0 0.37 96
214 [2, 4—TAFAT =Y
215 |2, 6—CAFAT =V
216 [N, N—IAF LT =Y 0.004 0.004
217 |[FAL o5 150 150
218 [UAFAT IV 3.3 0.13 3.4
219 |[VAF N AT 4R
220 | CAFINTF A I SIUEO KR
221 [~L TGN T 144 144
222 | T =) FAINT
223 [N, N=VAFARF AT
224 Ijl\N VAFAMRT VATV =N—AF 6.5 11,020 11 11,067
225 | ZaLky 100 3.9 104
226 |1, 1=V AF)LERTVV
227 |/35a—k 865 865
998 |3 3 —UAFAET = —4, 4 =T

N=TAVT R—b
229 |FAT 7 R—bAF IV 6,300 6,300
230 N—(1, 3=V AF LT FL) =N =7 ==

NN—IRTG =T 2= VT
231 [A/Nb—R)P
232 [N, N— PAF AN LT IR 10,916 10,916
233 [Zxpm—p 302 302
234 |R% 0.012 0.012
235 | RFREDKIEIELR 0.00003 0.00003
236 |7 AAFT =1 600 600
237 | KB OEDILEY) 0.25 12 12
238 |KFTNT ==L
239 | FHEARLAY 0.51 0.51
240 | AFL > 1,432 137 190 6,617 914 628 0.11 12,657
241 2 — ZVIRANF I F AU — 1 — AF LA

TR LI
242 [ELU RO OLAD 0.003 0.001 0.005
243 | AA % 351 351
244 | Z Ak 14,685 14,685
245 |FARFE 0.0001 0.0005 0.0006
246 |FAT=/)—)L
247 |57k
248 [ FATV I 806 3.4 809
249 |70V EURA 266 266
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

REYRZ L PR & (kg/4F, A4 ¥ FlTmg-TEQ/F)
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 15 16 17 18 19 20 20 21
. W HERHD x| , | EETE| VA | DAL PURT | s e WA . | BGE W AVUR A4 | BEA BEA | Thm | AR

w7 BRADL) RE RAA BB T ey | s | vvv | o | BB SRR T OB T A g vom | ke sbE | mi
250 [AV%HPF A 125 125
251 |7 x=haFA 4,555 272 4,828
252 |7z F A 85 85
253 | F a7z JiRA
254 | AT TRUIRA 612 612
255 |FH7uEY T 2=l m—T )L
256 |7 1R 1.2 1.2
257 | TH)—IV 234 0.008 234
258 |~FHFAFLLTETII 0.016 413 0.0005 413
259 | AT 4T A 0.58 0.58
260 |ZunXu=jL 3,772 3,772
261 | 7HFFAF 413 413
262 |FhZrnnTFL 1,202 1.7 1,203
263 |CFC—112
964 |20 3, 5, 6—TRIIAR— T =%

v
265 |7 hIER AT VHEK T 2V
266 |77 /LE) 47 47
267 |FAVINT 142 142
268 |FUTL 0.32 410 410
269 | (Y7 4h—)V
270 | FLTHLVER
271 |[TLIHNVERY AF )V
272 | $KEETER (B AR, ) 0.30 84 6.4 7.4 98
273 | V=L —RTF YT a— L 0.10 3.7 3.8
274 (= XV—RT A FA—)
275 |RF I VHiEET N D A 108 501 0.058 27,153 2,611 30,373
276 |ThITFL o4
277 |N=F LTI 134 228 362
278 [N x=FL T3 3.9 7.2 11
279 |1, 1, 1—RN)ruanxs
280 |1, 1, 2—h)yooxg
281 |F/mnxFLo 1,960 0.89 1,961
282 | M)/ oufEg 0.31 0.26 0.58
283 |2, 4, 6—h)Zou—1, 3, 5—hT7I
284 |CFC—113
285 |yuntE sy 10,005 10,005
286 |MJ7wE L
287 |2, 4, 6—hN)Z/nn7=/—L
288 |CFC—11 7,421 7,421
289 |1, 2, 3—hZuorso/sv
290 |RyZmm~_E

1, 3, 5—hMA(2, 3—x=RFT7atL)
291 |—1, 38, 5—K7Y>—2, 4, 6(1H, 3H,

5H) —hAY
292 [NITFATI
293 [NZ7AF) 1,661 1,661
294 |2, 4, 6—NTHETx/)—)L
295 13, 5, 5—RNIAF L —1—~FH /—/L
296 |1, 2, 4— RUAF L~ P 11,969 314 129 207 17,227 157 4.6 30,006
297 |1, 3, 5—RAF /LB 4,987 120 52 13,909 290 10,821 623 646 2.7 33,163
298 [FILL AV T R—b 1.8 1.8
299 [MLAvY
300 [P 85,936 6.6 0.90] 4,871 176,041 2,611 659 223,409  7,257| 3,640 217, 69 152 423,123
301 |[pL=o YTy
302 |[F7HL 967 124 0.20 1,084 169 5.3 2,350
303 |1, 5—F7HLL DA =D AV T F—h
304 |40 0.031 0.031
305 |[#bEW 4.5 311 11 19 345
306 | T ZUNEEANFHFAFL Y 0.096 0.096
307 | HfbER{bY v a=r L
308 |=v4 v 0.0005 0.002 0.002
309 |=vr M LED 0.69 271 13 284
310 |=hVu = FEmE
311 [ANh—=baT7=Y—/L
312 [ANbh—=fr7 =)
313 |[=has Ul
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

eI L/ PR & (kg/4F, A4 ¥ FlTmg-TEQ/F)
N 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 20 21
L) fiE £ ; V| v I S o . ; S s A=
314 [T —=baroa~ B
315 |[A N h—=Fafl x>
316 | =k~ 0.25 0.25
317 |=haAH 0.038 0.038
318 | hfifb iR 0.23 0.022 0.25
319 | /)<L — =)L T )La—)L
320 | /=T )—)v 0.067 0.067
321 (S VUNMEED 0.061 18 18
5 —[N, N—ER(2—TE&FLAF T
FN)TI] =2 = (2-TaE—4, 6V
32 | SR aT 2= ATY) — 4 AR LT LT 47 47
=UK
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

MBI FWE

wHa

WEA

2

3 4

5

6

7

8

ERIPE R (ke/2E, A4 2 FTme - TEQ/F)
9

10 11 12 13

14

15

16

17

20

20

21

1
fiE £
FEFOT
ZHYLLT

=28

Al B

B

bt [

#l

Bl -
bt

B st - 3
BAl

PH=
v

iz g NROE
o | BEE | g A

it

#hid
L

#ze
B

Kl

T+
T

FAA%
D%

B
EH

&4
e

AL

op
g1
=

323

AR

324

1, 3—EA[(2, 3—=ARF L7 me V) 4%
DAl

325

ERR ]

1,505

1,505

326

razeFUv

327

1, 2—ERA(2—ur7x=)L) LRIV

328

AN

329

RY S b

430

430

330

ERA(1—AF ) —1—Txz=)LmF)L) =~
NAFRUE

0.33

0.33

331

T A TRA

332

[[E AL YY)

0.000001

0.0000003

2.2

2.2

333

| N

1.3

101

102

334

4—bRaX %2 BEHFEBAT IV

335

N—(4—eRFo¥>7==L) 7ErT3IF

336

[N C N

1.7

1.9

3.6

337

4—v=)L—1—vra~%t

338

2—E= LYYV

339

N—t=/L—2—FulF~

340

E7xz=/

341

342

0.31

0.12

0.43

343

N7 A=)V

344

Tx VXL T

345

Jx=)VERT

346

2—Tx=)VTx/)—)V

347

N—7xz=/LvL AN

348

Tl VTS

349

Jx/)—)v

25

0.036

13

38

350

VAR

123

57

181

351

1, 3—74v>y

110

403 7,715 216 878

2,302

289

182

12,096

352

TNV T YV

353

T VY =T )L

354

TENEY — )V —TF )

3.6

270

273

355

THNVBEEA(2—ZF )L ~FL /L)

51

4.9

56

356

TENB )V~ —T F =~V

0.24

0.24

357

VA=

95

95

358

T7 7= /)R

359

I =T F)—2, 3—TRFTTar’
JLT—T )L

360

~/3v

980

980

361

Nty 7T F v

251

251

362

77z Fyns

363

FRAFOTI

176

176

364

T eaduA—h

14

14

365

BHA

366

H—x) T F I =EF B LA

367

AN = I H) =T FNT =) —)V

368

A—B =XV =T FNTx/)—)V

369

T LRy R

60

60

370

EOPSav2

143

143

371

T7 72 ETR

10

10

372

N—(Z—= ) =T FN) —2—_VFT
= VANT 2T IR

373

2—H =¥ =T F ) —5—AF )L T =
=

374

SoAbKF R OEDKRIEMEH

617

884

1,500

375

2—=7TF—)

376

TEIa—)

301

301

377

77

378

PACIEE VA

210

210

379

2—7ue’y—1—4—/

380

Ny —1211

381

TuEV/anrAg S

528

71

599

382

1 —1301

72

72

383

oL

570

570

384

1—7aEraiv

2,063

0.078

2,063
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MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

REREZ PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)
ot 1 2 3 1 5 6 7 8 9 10 11 12 13 v 5 16 | 17 B 9 20 20 31
. W HERHD x| , | EETE| VA | DAL PURT | s s BERAB . SGE ZE|  | AVUR A0b% | EEE | BSH | TAL | A

w7 e i e I L N I A e e R e
385 [2— T mET R
386 | BLALAT /L 191 191
387 BT =2 T HAX
388 |TmURANLT 7
389 ;\\\\#ﬂ'?“//lxl\U;“)"/IzT‘/-‘E:?A=7UU 5.6 465 1% 516
390 ~XYAFLLUT
391 | ~FYAT LY = AV T F—h 0.13 0.13
392 v — e 26,127 935 1.193 16,073 906 22 75,256
393 | NHF TR/
394 | NYUT LR OEOILEY
395 | ~LAY RO KESPEIR 1.6 1.6
396 PFOS
397 |y VUvv=R)raYR
398 H{b~o UL
399 |~ AT AFER 0.0003 63 3,121 135 442 357 72 0.00002 1,190
100~y 1.658 1.6 2.188 320 50.678  2.137| 3.172|  7.015] 289] 192 0.54 68,260
401 | L 2, A= RNUECNIAR L, 2— 1%

K4
102 A7=T Tk 110 110
103 |~ T2 0.0009 0.001 0.002
104 | R BTERT = )L
105 1BHRILAD 76 1.334 7.3 19 1437
106 PCB

RY (¥ =FLr) =T ¥z —T)L
107 | (FARLEOBFHN 1205155 TOB 1,592 4,011 22 309,287 3,917 318,829

DR OZDRAWZIRS., )
108 f%ifi’l?vﬂfﬁ7?”7l”” 16 380 2.5 169 1.6 572

R (AL 2FLy) =R Forxz—TL
409 B 160 3,363 13,358 3,274 50,011
110 ijflfﬁ*/l?vﬂf/"’”l"”l 1,140 1,700 25 1,039 71 3,976
411 VAT ATER 736 174 607 495 05687 152 15,607 6,640, 868] 92 235 212| 51,984
12~ T ROZDI A 0.23 1.6 1.6 3.5
413 KT XV
A14 K<L AR 0.007 0.007
415 | AXTV LR 2 0.36 27
416 | AXZVIVEE2 — TF )L ~F L
417 [AZVYNVEE2, 3—TARFL T aE )L
118 AZIU L2 — (DAF AT =TI 0.020 0.017 0.037
419 | ABTYVEE )~V —T F )L
420 | AH Y LERAT L 276 106 2.3 384
421 [A—AFVF o AFEH —2—F v
122 T=VAS Y 200 200
423 AFATI 0.0002 0.0002
124 AF L= AIFA LT H—F 320 320
425 AT a7
126 IAAKTT
1427 AU 230 101 331
128 T )T HNT 96 44 140
429 [/NBRLTBY AT )L 0.90 0.90
130 A FXF LT 13 13
131 |7/ % L ANREY 506 506
132 7R 80 80
133 H—rD 150 150
134 AF L
135 | EUS /S oI AT 3.4 3.4
436 |[TNT 7 —AFNAF L
437 |3—AFNF AT —)v
138 AFATFTHLL 9.5 60, 0.18 0.0005 70
439 |3—AF NV

1—AF )N —1—Tz=/L=F )L =bRa~
a10 )T 0.001 1.6 1.6
2= (U= AFATEEL) —4, 6-Y=}n

Tx/)—)V
442 [ A7 ma=)v

-8




MG 3T HEHIRAI - G P BRI OPE B HERH R R CTAR294EE : IR (1. IR H e A DO L EIY DL F~22. —RBERE LB i ]

B FYE PR (kg/4F, ZAAF 2 Fidmg-TEQ/4F)

i LT%&%@ 2 3 4 5 6 7 8 9 10 11 12 13 15 | 16 | 17 18 19 20 20 21
o e ke 2 W | " s, UREBGIG | BEA e B AT | 7aEs — Rk B E) kil | AZe e | AVURE | AR RER | RER | TR it
w7 TR B RAA BAAL B TR e | wa | v | om | HEE R wm B | U | oo | RwE | RWE | M
143 [AIIL 1,942 1,942
444 [N 7aF APy 18 18
445 [ JL IR IATF L 338 338
446 (4, 4’ —AFLL VT =0
7 |PTVVERE, T raaF L) =Y
AT F—h
448 )‘3"?\/3/1:‘2(4, 1—Tz=Ly) =V 10 0.17 10
TR—k

449 | T2 AT 4T 7 A
450 [EVTFINT 24 24
451 [2—ARFT —B5—AF AT =Y
452 (2= ANVAT RS FTV —)b 0.14 0.14
453 | BEVT TV R OZEDILEY 1.8 59 61
454 |2— (ENKRY) VT AH) RS FT/ =)
455 | LY 5.5 12 18
456 [DAALT A=A 165 165
457 [P/ RA 680 680
458 [VABENA (2—F NN~FiL)
459 [WABEN A (2— ZaaxF L) 0.20 0.20
160 [WABER RV 0.78 0.78
161 [DABERN) 7 2=/ 2.4 2.4
462 WAWER)— )V~ )V — T F )L

& i 272,708] 134,547] 2,719] 7,319] 253,711 45,425 538,472  72,096] 9,458] 7,361 566,502 18,497 34,202 2,603 748] 2,244 79,999 351 0 29,190] 1,201] 2,138,658
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